BID 027-LL09 BACKFLOW PREVENTER REPAIR, OVERHAUL, AND CERTIFICATION TESTING SERVICES SUMMARY SPREADSHEET

PRIMARY GROUP 1					
A to Z STATEWIDE PLUMBING, INC.	\$95,934.35				
BACKFLOW CERTIFICATION, INC.	\$158,711.75				
DP PLUMBING & FIRE PROTECTION,	\$123,299.00				
ENVIRONMENTAL PERFORMANCE	\$142,215.00				
MRC PLUMBING AND BACKFLOW,	\$90,669.00				
NOYAR AND KENNETH	\$290,935.36				

PRIMARY GROUP 2	<u>, </u>
A to Z STATEWIDE PLUMBING, INC.	\$625.00
BACKFLOW CERTIFICATION, INC.	\$250.00
DP PLUMBING & FIRE PROTECTION,	\$425.00
ENVIRONMENTAL PERFORMANCE	\$750.00
MRC PLUMBING AND BACKFLOW,	\$425.00
NOYAR AND KENNETH	\$425.00

ALTERNATE GROUP 1				
A to Z STATEWIDE PLUMBING, INC.	\$95,934.35			
BACKFLOW CERTIFICATION, INC.	\$158,711.75			
DP PLUMBING & FIRE PROTECTION,	\$123,299.00			
ENVIRONMENTAL PERFORMANCE	\$142,215.00			
MRC PLUMBING AND BACKFLOW,	\$90,669.00			
NOYAR AND KENNETH	\$290,935.36			

ALTERNATE GROUP	2
A to Z STATEWIDE PLUMBING, INC.	\$625.00
BACKFLOW CERTIFICATION, INC.	\$250.00
DP PLUMBING & FIRE PROTECTION,	\$425.00
ENVIRONMENTAL PERFORMANCE	\$750.00
MRC PLUMBING AND BACKFLOW,	\$425.00
NOYAR AND KENNETH	\$425.00

Prepared by: O. Houser

Review by: M. Slocum

	DESCRIPTION	QTY.	UOM	A to Z STAT	EWIDE PLUMBING, INC.
	Group 1				
-	Items 1 through 53 shall be awarded on a total low bid basis. Bidder <u>must bid all items</u> in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before offering a bid price for any group below:				
1	AMES 2000B - 3/4", M2, Complete Repair.	9	Each	126.68	\$1,140.12
2	AMES 3000SE - 6", Complete Repair.	1	Each	\$531.88	\$531.88
3	AMES 3000SS - 4", Complete Repair.	11	Each	\$494.38	\$5,438.18
4	AMES 3000SS - 6", Complete Repair.	12	Each	\$554.55	\$6,654.60
5	AMES 3000SS - 8", Complete Repair.	3	Each	\$252.74	\$758.22
6	AMES 4000SS - 3", Complete Repair.	7	Each	\$600.38	\$4,202.66
7	AMES 4000SS - 4", Complete Repair.	22	Each	\$600.38	\$13,208.36
8	AMES 4000SS - 6", Complete Repair.	1	Each	\$663.55	\$663.55
9	HERSEY FDC 3/4", Complete Repair.	1	Each	\$166.03	\$166.03
10	FEBCO 765 - 2", Complete Repair.	2	Each	\$156.70	\$313.40
11	FEBCO 805 - 3/4", Complete Repair.	12	Each	\$126.95	\$1,523.40
12	FEBCO 805Y - 4", Complete Repair.	3	Each	\$285.29	\$855.87
13	FEBCO 806YD - 4", Complete Repair.	8	Each	\$285.26	\$2,282.08
14	FEBCO 806 - 6", Complete Repair.	4	Each	\$380.39	\$1,521.56
15	FEBCO 825 - 2", Complete Repair.	3	Each	\$196.67	\$590.01
16	FEBCO 825 - 3", Complete Repair.	2	Each	\$370.65	\$741.30

	DESCRIPTION	QTY.	MOU	A to Z STAT	EWIDE PLUMBING, INC.
17	FEBCO 825 - 4", Complete Repair.	1	Each	\$349.63	\$349.63
18	FEBCO 876 - 6", Complete Repair.	1	Each	\$428.14	\$428.14
19	HERSEY FRP II 1-1/2", Complete Repair.	1	Each	\$213.24	\$213.24
20	HERSEY FRP II 2", Complete Repair.	1	Each	\$219.68	\$219.68
21	HERSEY DDC II 3", Complete Repair.	1	Each	\$275.62	\$275.62
22	HERSEY 6CM - 4", Complete Repair.	1	Each	\$520.51	\$520.51
23	WATTS 007 - 3/4", M2, Complete Repair.	23	Each	\$127.88	\$2,941.24
24	WATTS 007 - 2", Complete Repair.	4	Each	\$177.33	\$709.32
25	WATTS 009 - 2", Complete Repair.	14	Each	\$221.73	\$3,104.22
26	WATTS 709 - 3/4", Bronze, Complete Repair.	2	Each	\$121.89	\$243.78
27	WATTS 709 - 4", Complete Repair.	9	Each	\$265.40	\$2,388.60
28	WATTS 709 - 6", Complete Repair.	7	Each	\$319.11	\$2,233.77
29	WATTS 709 - 8", Complete Repair.	3	Each	\$346.93	\$1,040.79
30	WATTS 709 - 10", Complete Repair.	2	Each	\$405.61	\$811.22
31	WATTS 800 - 2", Complete Repair.	4	Each	\$172.59	\$690.36
32	WATTS 909 - 4", Complete Repair.	8	Each	\$420.08	\$3,360.64

	DESCRIPTION	QTY.	UOM	A to Z STATEW	TIDE PLUMBING, INC.
33	WATTS 774 - 6", Complete Repair.	1	Each	\$554.55	\$554.55
34	WILKINS 350 - 4", Complete Repair.	8	Each	\$211.82	\$1,694.56
35	WILKINS 350 - 6", Complete Repair.	4	Each	\$298.94	\$1,195.76
36	WILKINS 375 - 4", Complete Repair.	3	Each	\$248.71	\$746.13
37	WILKINS 375 - 6", Complete Repair.	4	Each	\$335.82	\$1,343.28
38	WILKINS 720 - 2", Complete Repair.	7	Each	\$194.01	\$1,358.07
39	WILKINS 950XL - 3/4", Complete Repair.	4	Each	\$125.51	\$502.04
40	WILKINS 950XL - 4", Complete Repair.	3	Each	\$259.75	\$779.25
41	WILKINS 975 - 6", Complete Repair.	3	Each	\$353.55	\$1,060.65
42	WILKINS 975XL - 2", Complete Repair.	7	Each	\$171.37	\$1,199.59
43	WILKINS 975 - 2-1/2", Complete Repair.	1	Each	\$233.94	\$233.94
44	WILKINS 975 - 3", Complete Repair.	4	Each	\$233.94	\$935.76
45	WILKINS 975 - 4", Complete Repair.	6	Each	\$259.75	\$1,558.50
46	RAINBIRD 200 - 2", Complete Repair.	3	Each	\$202.42	\$607.26
47	CONBRACO 40-100 - 3/4", Complete Repair.	1	Each ·	\$139.33	\$139.33
48	REPLACEMENT 1/4" TEST PORT	5	Each	\$9.69	\$48.45
49	REPLACEMENT 3/8" TEST PORT	5	Each	\$9.69	\$48.45
50	REPLACEMENT 1/2" TEST PORT	5	Each	\$17.76	\$88.80

BACKFLOW PREVENTER REPAIR, OVERHAUL, AND CERTIFICATION TESTING SERVICES

	DESCRIPTION	QTY.	UOM	A to Z STATEW	IDE PLUMBING, INC.
51	REPLACE GATE VALVE PACKING	20	Each	\$29.65	\$593.00
52	LABOR RATE FOR MISCELLANEOUS, NON- ROUTINE, PLUMBING REPAIR/REPLACEMENT SERVICES.	15	Hours	\$75.00	\$1,125.00
53	PERCENTAGE MARK-UP OVER THE COST FOR NEW BACKFLOW PREVENTION DEVICES, GATE VALVES OR MISCELLANEOUS REPAIR PARTS. VENDOR SHALL PROVIDE DOCUMENTATION OF COST AT THE TIME OF INVOICING.	\$20,000	% Mark-up on annual estimated parts costs	0%	\$20,000.00
	GROUP 1 TOTAL	- Address		Alternate Award	<i>\$95,934.35</i>
	Group 2			A to Z STATEW	DE PLUMBING, INC.
	Item 54 shall be awarded on a total low bid basis. Bidder <u>must bid</u> this <u>item</u> in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before offering a bid price for the group below:				
54	ANNUAL CERTIFICATION TESTING, NOT ASSOCIATED WITH PREVIOUS REPAIR WORK. All backflow preventers must be tested annually to assure that they are performing satisfactorily by a certified backflow preventer tester, pursuant to Miami-Dade County, Code of Ordinances, Chapter 32, Article VIII, (c). Most backflow preventer's certification testing will be performed by M-DCPS personnel, but this line item will accomodate those certifications performed by vendor(s).	5	Each	\$125.00	\$625.00
	GROUP 2 TOTAL				\$625.00
	TOTAL				\$96,559.35
			1	A to Z STATEWII	DE PLUMBING, INC.

NOTE: Wis's Engineering, LLC bid rejected. Vendor failed to respond to Addendum #2 changes.

PRIMARY AWARDS				
PRIMARY AWARD SUMMARY:	Low Bids			
GROUP 1 - MRC PLUMBING & BACKFLOW	\$90,669			
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250			
NOTE: Group 1 cannot certify backflows.				

ALTERNATE AWARDS			
ALTERNATE AWARD SUMMARY:	Low Bids		
GROUP 1 - A TO Z STATEWIDE PLUMBING, INC,	\$95,934.35		
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250		
NOTE: Group 1 cannot certify backflows.			

	DESCRIPTION	QTY.	UOM	BACKFLOW CE	RTIFICATION, INC.
	Group 1				
	Items 1 through 53 shall be awarded on a total low bid basis. Bidder must bid all items in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before offering a bid price for any group below:				
1	AMES 2000B - 3/4", M2, Complete Repair.	9	Each	\$195.35	\$1,758.15
2	AMES 3000SE - 6", Complete Repair.	1	Each	\$775.35	\$775.35
3	AMES 3000SS - 4", Complete Repair.	11	Each	\$821.75	\$9,039.25
4	AMES 3000SS - 6", Complete Repair.	12	Each	\$903.16	\$10,837.92
5	AMES 3000SS - 8", Complete Repair.	3	Each	\$923.27	\$2,769.81
6	AMES 4000SS - 3", Complete Repair.	7	Each	\$916.17	\$6,413.19
7	AMES 4000SS - 4", Complete Repair.	22	Each	\$989.16	\$21,761.52
8	AMES 4000SS - 6", Complete Repair.	1	Each	\$1,011.75	\$1,011.75
9 ,	HERSEY FDC 3/4", Complete Repair.	1	Each	\$185.16	\$185.16
10	FEBCO 765 - 2", Complete Repair.	2	Each	\$233.65	\$467.30
11	FEBCO 805 - 3/4", Complete Repair.	12	Each	\$255.85	\$3,070.20
12	FEBCO 805Y - 4", Complete Repair.	3	Each	\$983.16	\$2,949.48
13	FEBCO 806YD - 4", Complete Repair.	8	Each	\$910.57	\$7,284.56
14	FEBCO 806 - 6", Complete Repair.	4	Each	\$1,017.15	\$4,068.60
17	1 2000 000 - 0 , complete Repair.	T	Lacii	ψ1,011.10	Ψ+,000.00
15	FEBCO 825 - 2", Complete Repair.	3	Each	\$814.50	\$2,443.50
16	FEBCO 825 - 3", Complete Repair.	2	Each	\$993.73	\$1,987.46

	DESCRIPTION	QTY.	UOM	BACKFLOW CE	RTIFICATION, INC.	
17	FEBCO 825 - 4", Complete Repair.	1	Each	\$1,498.50	\$1,498.50	
18	FEBCO 876 - 6", Complete Repair.	1	Each	\$1,002.60	\$1,002.60	
19	HERSEY FRP II 1-1/2", Complete Repair.	1	Each	\$228.37	\$228.37	
20	HERSEY FRP II 2", Complete Repair.	1	Each	\$228.37	\$228.37	
21	HERSEY DDC II 3", Complete Repair.	1	Each	\$185.16	\$185.16	
22	HERSEY 6CM - 4", Complete Repair.	1	Each	\$1,464.00	\$1,464.00	
23	WATTS 007 - 3/4", M2, Complete Repair.	23	Each	\$165.00	\$3,795.00	
24	WATTS 007 - 2", Complete Repair.	4	Each	\$384.17	\$1,536.68	
25	WATTS 009 - 2", Complete Repair.	14	Each	\$390.00	\$5,460.00	
26	WATTS 709 - 3/4", Bronze, Complete Repair.	2	Each	\$181.16	\$362.32	
27	WATTS 709 - 4", Complete Repair.	. 9	Each	\$891.50	\$8,023.50	
28	WATTS 709 - 6", Complete Repair.	7	Each	\$1,100.16	\$7,701.12	
29	WATTS 709 - 8", Complete Repair.	3	Each	\$1,910.00	\$5,730.00	
30	WATTS 709 - 10", Complete Repair.	2	Each	\$1,910.00	\$3,820.00	
31	WATTS 800 - 2", Complete Repair.	4	Each	\$260.00	\$1,040.00	
32	WATTS 909 - 4", Complete Repair.	8	Each	\$600.13	\$4,801.04	

	DESCRIPTION	QTY.	UOM	BACKFLOW CE	RTIFICATION, INC.
33	WATTS 774 - 6", Complete Repair.	1	Each	\$595.16	\$595.16
34	WILKINS 350 - 4", Complete Repair.	8	Each	\$401.61	\$3,212.88
35	WILKINS 350 - 6", Complete Repair.	4	Each	\$609.00	\$2,436.00
36	WILKINS 375 - 4", Complete Repair.	3	Each	\$512.40	\$1,537.20
37	WILKINS 375 - 6", Complete Repair.	4	Each	\$703.15	\$2,812.60
38	WILKINS 720 - 2", Complete Repair.	7	Each	\$299.13	\$2,093.91
39	WILKINS 950XL - 3/4", Complete Repair.	4	Each	\$290.00	\$1,160.00
40	WILKINS 950XL - 4", Complete Repair.	3	Each	\$800.00	\$2,400.00
41	WILKINS 975 - 6", Complete Repair.	3	Each	\$616.91	\$1,850.73
42	WILKINS 975XL - 2", Complete Repair.	7	Each	\$350.15	\$2,451.05
43	WILKINS 975 - 2-1/2", Complete Repair.	1	Each	\$402.60	\$402.60
44	WILKINS 975 - 3", Complete Repair.	4	Each	\$440.00	\$1,760.00
45	WILKINS 975 - 4", Complete Repair.	6	Each	\$502.13	\$3,012.78
46	RAINBIRD 200 - 2", Complete Repair.	3	Each	\$351.16	\$1,053.48
47	CONBRACO 40-100 - 3/4", Complete Repair.	1	Each	\$318.50	\$318.50
48	REPLACEMENT 1/4" TEST PORT	5	Each	\$96.00	\$480.00
49	REPLACEMENT 3/8" TEST PORT	5	Each	\$96.00	\$480.00
50	REPLACEMENT 1/2" TEST PORT	5	Each	\$96.00	\$480.00

BACKFLOW PREVENTER REPAIR, OVERHAUL, AND CERTIFICATION TESTING SERVICES

	DESCRIPTION	QTY.	UOM	BACKFLOW CER	TIFICATION, INC.
51	REPLACE GATE VALVE PACKING	20	Each	\$175.00	\$3,500.00
52	LABOR RATE FOR MISCELLANEOUS, NON-ROUTINE, PLUMBING REPAIR/REPLACEMENT SERVICES.	15	Hours	\$65.00	\$975.00
53	PERCENTAGE MARK-UP OVER THE COST FOR NEW BACKFLOW PREVENTION DEVICES, GATE VALVES OR MISCELLANEOUS REPAIR PARTS. VENDOR SHALL PROVIDE DOCUMENTATION OF COST AT THE TIME OF INVOICING.	\$20,000	% Mark-up on annual estimated parts costs	10%	\$2,000.00
	GROUP 1 TOTAL		300,000,000,000,000		\$158,711.75
	Group 2			BACKFLOW CER	TIFICATION, INC.
	Item 54 shall be awarded on a total low bid basis. Bidder <u>must bid</u> this <u>item</u> in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before offering a bid price for the group below:				
54	ANNUAL CERTIFICATION TESTING, NOT ASSOCIATED WITH PREVIOUS REPAIR WORK. All backflow preventers must be tested annually to assure that they are performing satisfactorily by a certified backflow preventer tester, pursuant to Miami-Dade County, Code of Ordinances, Chapter 32, Article VIII, (c). Most backflow preventer's certification testing will be performed by M-DCPS personnel, but this line item will accomodate those certifications perfomed by vendor(s).	5	Each	\$50.00	\$250.00
	GROUP 2 TOTAL	······································		Primary & Alternate Award	\$250.00
	TOTAL		·		\$158,961.75
				BACKFLOW CERT	IFICATION, INC.

PRIMARY AWARDS						
PRIMARY AWARD SUMMARY:	Low Bids					
GROUP 1 - MRC PLUMBING & BACKFLOW	\$90,669					
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250					
NOTE: Group 1 cannot certify backflows.						

ALTERNATE AWARDS	
ALTERNATE AWARD SUMMARY:	Low Bids
GROUP 1 - A TO Z STATEWIDE PLUMBING, INC,	\$95,934.35
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250
NOTE: Group 1 cannot certify backflows.	

	DESCRIPTION	QTY.	UOM	DP PLUMBING & FI	RE PROTECTION, INC.
	Group 1 Items 1 through 53 shall be awarded on a total low bid basis. Bidder must bid all items in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before				
	offering a bid price for any group below:				
1	AMES 2000B - 3/4", M2, Complete Repair.	9	Each	\$180.00	\$1,620.00
2	AMES 3000SE - 6", Complete Repair.	1	Each	\$780.00	\$780.00
3	AMES 3000SS - 4", Complete Repair.	11	Each ,	\$636.00	\$6,996.00
4	AMES 3000SS - 6", Complete Repair.	12	Each	\$720.00	\$8,640.00
5	AMES 3000SS - 8", Complete Repair.	3	Each	\$900.00	\$2,700.00
6	AMES 4000SS - 3", Complete Repair.	7	Each	\$600.00	\$4,200.00
7	AMES 4000SS - 4", Complete Repair.	22	Each	\$600.00	\$13,200.00
8	AMES 4000SS - 6", Complete Repair.	1	Each	\$600.00	\$600.00
9	HERSEY FDC 3/4", Complete Repair.	1	Each	\$180.00	\$180.00
10	FEBCO 765 - 2", Complete Repair.	2	Each	\$240.00	\$480.00
11	FEBCO 805 - 3/4", Complete Repair.	12	Each	\$240.00	\$2,880.00
12	FEBCO 805Y - 4", Complete Repair.	3	Each	\$540.00	\$1,620.00
13	FEBCO 806YD - 4", Complete Repair.	8	Each	\$540.00	\$4,320.00
14	FEBCO 806 - 6", Complete Repair.	4	Each	\$540.00	\$2,160.00
15	FEBCO 825 - 2", Complete Repair.	3	Each	\$240.00	\$720.00
16	FEBCO 825 - 3", Complete Repair.	2	Each	\$420.00	\$840.00

	DESCRIPTION	QTY.	UOM	DP PLUMBING & FI	RE PROTECTION, INC
17	FEBCO 825 - 4", Complete Repair.	1	Each	\$480.00	\$480.00
18	FEBCO 876 - 6", Complete Repair.	1	Each	\$480.00	\$480.00
19	HERSEY FRP II 1-1/2", Complete Repair.	1	Each	\$210.00	\$210.00
20	HERSEY FRP II 2", Complete Repair.	1	Each	\$210.00	\$210.00
21	HERSEY DDC II 3", Complete Repair.	1	Each	\$420.00	\$420.00
22	HERSEY 6CM - 4", Complete Repair.	1	Each	\$420.00	\$420.00
23	WATTS 007 - 3/4", M2, Complete Repair.	23	Each	\$216.00	\$4,968.00
24	WATTS 007 - 2", Complete Repair.	4	Each	\$300.00	\$1,200.00
25	WATTS 009 - 2", Complete Repair.	14	Each	\$300.00	\$4,200.00
26	WATTS 709 - 3/4", Bronze, Complete Repair.	2	Each	\$180.00	\$360.00
27	WATTS 709 - 4", Complete Repair.	9	Each	\$540.00	\$4,860.00
28	WATTS 709 - 6", Complete Repair.	7	Each	\$660.00	\$4,620.00
29	WATTS 709 - 8", Complete Repair.	3	Each	\$720.00	\$2,160.00
30	WATTS 709 - 10", Complete Repair.	2	Each	\$960.00	\$1,920.00
31	WATTS 800 - 2", Complete Repair.	4	Each	\$180.00	\$720.00
32	WATTS 909 - 4", Complete Repair.	8	Each	\$600.00	\$4,800.00

	DESCRIPTION	QTY.	UOM	DP PLUMBING & FI	RE PROTECTION, INC
33	WATTS 774 - 6", Complete Repair.	1	Each	\$660.00	\$660.00
34	WILKINS 350 - 4", Complete Repair.	8	Each	\$540.00	\$4,320.00
35	WILKINS 350 - 6", Complete Repair.	4	Each	\$660.00	\$2,640.00
36	WILKINS 375 - 4", Complete Repair.	3	Each	\$480.00	\$1,440.00
37	WILKINS 375 - 6", Complete Repair.	4	Each	\$600.00	\$2,400.00
38	WILKINS 720 - 2", Complete Repair.	7	Each	\$240.00	\$1,680.00
39	WILKINS 950XL - 3/4", Complete Repair.	4	Each	\$180.00	\$720.00
40	WILKINS 950XL - 4", Complete Repair.	3	Each	\$540.00	\$1,620.00
41	WILKINS 975 - 6", Complete Repair.	3	Each	\$720.00	\$2,160.00
42	WILKINS 975XL - 2", Complete Repair.	7	Each	\$300.00	\$2,100.00
43	WILKINS 975 - 2-1/2", Complete Repair.	1	Each	\$390.00	\$390.00
44	WILKINS 975 - 3", Complete Repair.	4	Each	\$540.00	\$2,160.00
45	WILKINS 975 - 4", Complete Repair.	6	Each	\$600.00	\$3,600.00
46	RAINBIRD 200 - 2", Complete Repair.	3	Each	\$180.00	\$540.00
47	CONBRACO 40-100 - 3/4", Complete Repair.	1	Each	\$180.00	\$180.00
48	REPLACEMENT 1/4" TEST PORT	5	Each	\$36.00	\$180.00
49	REPLACEMENT 3/8" TEST PORT	5	Each	\$54.00	\$270.00
50	REPLACEMENT 1/2" TEST PORT	5	Each	\$60.00	\$300.00

BACKFLOW PREVENTER REPAIR, OVERHAUL, AND CERTIFICATION TESTING SERVICES

	DESCRIPTION	QTY.	UOM	DP PLUMBING & FI	RE PROTECTION, INC.
51	REPLACE GATE VALVE PACKING	20	Each	\$300.00	\$6,000.00
52	LABOR RATE FOR MISCELLANEOUS, NON-ROUTINE, PLUMBING REPAIR/REPLACEMENT SERVICES.	15	Hours	\$65.00	\$975.00
53	PERCENTAGE MARK-UP OVER THE COST FOR NEW BACKFLOW PREVENTION DEVICES, GATE VALVES OR MISCELLANEOUS REPAIR PARTS. VENDOR SHALL PROVIDE DOCUMENTATION OF COST AT THE TIME OF INVOICING.	\$20,000	% Mark-up on annual estimated parts costs	25%	\$5,000.00
	GROUP 1 TOTAL				\$123,299.00
	Group 2	V. 27 17		DP PLUMBING & FI	RE PROTECTION, INC.
	Item 54 shall be awarded on a total low bid basis. Bidder <u>must bid</u> this <u>item</u> in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before offering a bid price for the group below:				
54	ANNUAL CERTIFICATION TESTING, NOT ASSOCIATED WITH PREVIOUS REPAIR WORK. All backflow preventers must be tested annually to assure that they are performing satisfactorily by a certified backflow preventer tester, pursuant to Miami-Dade County, Code of Ordinances, Chapter 32, Article VIII, (c). Most backflow preventer's certification testing will be performed by M-DCPS personnel, but this line item will accomodate those certifications perfomed by vendor(s).	5	Each	\$85.00	\$425.00
	GROUP 2 TOTAL				\$425.00
	TOTAL				\$123,724.00
				DP PLUMBING & FIR	RE PROTECTION, INC.

PRIMARY AWARDS				
PRIMARY AWARD SUMMARY:	Low Bids			
GROUP 1 - MRC PLUMBING & BACKFLOW	\$90,669			
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250			
NOTE: Group 1 cannot certify backflows.				

ALTERNATE AWARDS	
ALTERNATE AWARD SUMMARY:	Low Bids
GROUP 1 - A TO Z STATEWIDE PLUMBING, INC,	\$95,934.35
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250
NOTE: Group 1 cannot certify backflows.	

	DESCRIPTION	QTY.	UOM		AL PERFORMANCE STEMS
	Group 1				
	Items 1 through 53 shall be awarded on a total low bid basis. Bidder <u>must bid all items</u> in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before offering a bid price for any group below:				
1	AMES 2000B - 3/4", M2, Complete Repair.	9	Each	\$195.00	\$1,755.00
2	AMES 3000SE - 6", Complete Repair.	1	Each	\$695.00	\$695.00
3	AMES 3000SS - 4", Complete Repair.	11	Each	\$595.00	\$6,545.00
4	AMES 3000SS - 6", Complete Repair.	12	Each	\$720.00	\$8,640.00
5	AMES 3000SS - 8", Complete Repair.	3	Each	\$975.00	\$2,925.00
6	AMES 4000SS - 3", Complete Repair.	7	Each	\$480.00	\$3,360.00
7	AMES 4000SS - 4", Complete Repair.	22	Each	\$595.00	\$13,090.00
8	AMES 4000SS - 6", Complete Repair.	1	Each	\$695.00	\$695.00
9	HERSEY FDC 3/4", Complete Repair.	1	Each	\$225.00	\$225.00
10	FEBCO 765 - 2", Complete Repair.	2	Each	\$240.00	\$480.00
11	FEBCO 805 - 3/4", Complete Repair.	12	Each	\$195.00	\$2,340.00
12	FEBCO 805Y - 4", Complete Repair.	. 3	Each	\$495.00	\$1,485.00
13	FEBCO 806YD - 4", Complete Repair.	8	Each	\$540.00	\$4,320.00
14	FEBCO 806 - 6", Complete Repair.	4	Each	\$695.00	\$2,780.00
15	FEBCO 825 - 2", Complete Repair.	3	Each	\$380.00	\$1,140.00
16	FEBCO 825 - 3", Complete Repair.	2	Each	\$495.00	\$990.00

	DESCRIPTION	QTY.	UOM		AL PERFORMANCE STEMS
17	FEBCO 825 - 4", Complete Repair.	1	Each	\$570.00	\$570.00
18	FEBCO 876 - 6", Complete Repair.	1	Each	\$780.00	\$780.00
19	HERSEY FRP II 1-1/2", Complete Repair.	1	Each	\$295.00	\$295.00
20	HERSEY FRP II 2", Complete Repair.	1	Each	\$325.00	\$325.00
21	HERSEY DDC II 3", Complete Repair.	1	Each	\$465.00	\$465.00
22	HERSEY 6CM - 4", Complete Repair.	1	Each	\$570.00	\$570.00
23	WATTS 007 - 3/4", M2, Complete Repair.	23	Each	\$195.00	\$4,485.00
24	WATTS 007 - 2", Complete Repair.	4	Each	\$265.00	\$1,060.00
25	WATTS 009 - 2", Complete Repair.	14	Each	\$385.00	\$5,390.00
26	WATTS 709 - 3/4", Bronze, Complete Repair.	2	Each	\$250.00	\$500.00
27	WATTS 709 - 4", Complete Repair.	9	Each	\$680.00	\$6,120.00
28	WATTS 709 - 6", Complete Repair.	7	Each	\$1,020.00	\$7,140.00
29	WATTS 709 - 8", Complete Repair.	3	Each	\$1,850.00	\$5,550.00
30	WATTS 709 - 10", Complete Repair.	2	Each	\$2,480.00	\$4,960.00
31	WATTS 800 - 2", Complete Repair.	4	Each	\$265.00	\$1,060.00
32	WATTS 909 - 4", Complete Repair.	8	Each	\$895.00	\$7,160.00

	DESCRIPTION	QTY.	UOM	l	AL PERFORMANCE STEMS
33	WATTS 774 - 6", Complete Repair.	1	Each	\$895.00	\$895.00
34	WILKINS 350 - 4", Complete Repair.	8	Each	\$850.00	\$6,800.00
35	WILKINS 350 - 6", Complete Repair.	.4	Each	\$950.00	\$3,800.00
36	WILKINS 375 - 4", Complete Repair.	3	Each	\$850.00	\$2,550.00
37	WILKINS 375 - 6", Complete Repair.	4	Each	\$975.00	\$3,900.00
38	WILKINS 720 - 2", Complete Repair.	7	Each	\$275.00	\$1,925.00
39	WILKINS 950XL - 3/4", Complete Repair.	4	Each	\$290.00	\$1,160.00
40	WILKINS 950XL - 4", Complete Repair.	3	Each	\$675.00	\$2,025.00
41	WILKINS 975 - 6", Complete Repair.	3	Each	\$1,080.00	\$3,240.00
42	WILKINS 975XL - 2", Complete Repair.	7	Each	\$395.00	\$2,765.00
43	WILKINS 975 - 2-1/2", Complete Repair.	1	Each	\$470.00	\$470.00
44	WILKINS 975 - 3", Complete Repair.	4	Each	\$645.00	\$2,580.00
45	WILKINS 975 - 4", Complete Repair.	6	Each	\$790.00	\$4,740.00
46	RAINBIRD 200 - 2", Complete Repair.	3	Each	\$275.00	\$825.00
47	CONBRACO 40-100 - 3/4", Complete Repair.	1	Each	\$195.00	\$195.00
48	REPLACEMENT 1/4" TEST PORT	5	Each	\$95.00	\$475.00
49	REPLACEMENT 3/8" TEST PORT	5	Each	\$105.00	\$525.00
50	REPLACEMENT 1/2" TEST PORT	5	Each	\$105.00	\$525.00

BACKFLOW PREVENTER REPAIR, OVERHAUL, AND CERTIFICATION TESTING SERVICES

· · · · · · · · · · · · · · · · · · ·	DESCRIPTION	QTY.	UOM		AL PERFORMANCE STEMS
51	REPLACE GATE VALVE PACKING	20	Each	\$75.00	\$1,500.00
52	LABOR RATE FOR MISCELLANEOUS, NON-ROUTINE, PLUMBING REPAIR/REPLACEMENT SERVICES.	15	Hours	\$95.00	\$1,425.00
53	PERCENTAGE MARK-UP OVER THE COST FOR NEW BACKFLOW PREVENTION DEVICES, GATE VALVES OR MISCELLANEOUS REPAIR PARTS. VENDOR SHALL PROVIDE DOCUMENTATION OF COST AT THE TIME OF INVOICING.	\$20,000	% Mark-up on annual estimated parts costs	10%	\$2,000.00
	GROUP 1 TOTAL				<i>\$142,215.00</i>
	Group 2				L PERFORMANCE TEMS
	Item 54 shall be awarded on a total low bid basis. Bidder must bid this item in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before offering a bid price for the group below:				
54	ANNUAL CERTIFICATION TESTING, NOT ASSOCIATED WITH PREVIOUS REPAIR WORK. All backflow preventers must be tested annually to assure that they are performing satisfactorily by a certified backflow preventer tester, pursuant to Miami-Dade County, Code of Ordinances, Chapter 32, Article VIII, (c). Most backflow preventer's certification testing will be performed by M-DCPS personnel, but this line item will accomodate those certifications perfomed by vendor(s).	5	Each	\$150.00	\$750.00
	GROUP 2 TOTAL	100.00		Tie Bid	\$750.00
	TOTAL			FNVIRONMENTAL	\$142,965.00 L PERFORMANCE

PRIMARY AWARDS						
PRIMARY AWARD SUMMARY:	Low Bids					
GROUP 1 - MRC PLUMBING & BACKFLOW	\$90,669					
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250					
NOTE: Group 1 cannot certify backflows.						

ALTERNATE AWARDS				
ALTERNATE AWARD SUMMARY:	Low Bids			
GROUP 1 - A TO Z STATEWIDE PLUMBING, INC,	\$95,934.35			
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250			
NOTE: Group 1 cannot certify backflows.				

	DESCRIPTION	QTY.	UOM	MRC PLUMBING AND BACKFLOW, INC	
	Group 1				0.300
	Items 1 through 53 shall be awarded on a total low bid basis. Bidder must bid all items in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before offering a bid price for any group below:	-			,
1	AMES 2000B - 3/4", M2, Complete Repair.	9	Each	\$103.00	\$927.00
2	AMES 3000SE - 6", Complete Repair.	1	Each	\$556.00	\$556.00
3	AMES 3000SS - 4", Complete Repair.	11	Each -	\$521.00	\$5,731.00
4	AMES 3000SS - 6", Complete Repair.	12	Each	\$556.00	\$6,672.00
5	AMES 3000SS - 8", Complete Repair.	3	Each	\$635.00	\$1,905.00
6	AMES 4000SS - 3", Complete Repair.	7	Each	\$590.00	\$4,130.00
7	AMES 4000SS - 4", Complete Repair.	22	Each	\$626.00	\$13,772.00
8	AMES 4000SS - 6", Complete Repair.	1	Each	\$701.00	\$701.00
9	HERSEY FDC 3/4", Complete Repair.	1	Each	\$108.00	\$108.00
10	FEBCO 765 - 2", Complete Repair.	2	Each	\$188.00	\$376.00
11	FEBCO 805 - 3/4", Complete Repair.	12	Each	\$105.00	\$1,260.00
12	FEBCO 805Y - 4", Complete Repair.	3	Each	\$326.00	\$978.00
13	FEBCO 806YD - 4", Complete Repair.	8	Each	\$326.00	\$2,608.00
14	FEBCO 806 - 6", Complete Repair.	4	Each	\$385.00	\$1,540.00
15	FEBCO 825 - 2", Complete Repair.	3	Each	\$215.00	\$645.00
16	FEBCO 825 - 3", Complete Repair.	2	Each	\$386.00	\$772.00

MRC PLUMBING AND BACKFLOW, INC. QTY. UOM DESCRIPTION \$410.00 \$410.00 1 Each FEBCO 825 - 4", Complete Repair. 17 \$860.00 \$860.00 Each 18 FEBCO 876 - 6", Complete Repair. \$181.00 1 Each \$181.00 HERSEY FRP II 1-1/2", Complete Repair. \$280.00 1 Each \$280.00 HERSEY FRP II 2", Complete Repair. 20 \$135.00 \$135.00 21 HERSEY DDC II 3", Complete Repair. Each \$583.00 \$583.00 1 Each 22 HERSEY 6CM - 4", Complete Repair. \$2,208.00 23 \$96.00 23 WATTS 007 - 3/4", M2, Complete Repair: Each 4 Each \$183.00 \$732.00 WATTS 007 - 2", Complete Repair. 24 \$180.00 \$2,520.00 14 Each 25 WATTS 009 - 2", Complete Repair. \$97.00 \$194.00 2 Each WATTS 709 - 3/4", Bronze, Complete Repair. 26 \$2,772.00 \$308.00 9 Each WATTS 709 - 4", Complete Repair. 27 \$3,080.00 \$440.00 28 WATTS 709 - 6", Complete Repair. 7 Each \$520.00 \$1,560.00 3 Each 29 WATTS 709 - 8", Complete Repair. \$630.00 \$1,260.00 2 WATTS 709 - 10", Complete Repair. Each 30

WATTS 800 - 2", Complete Repair.

WATTS 909 - 4", Complete Repair.

31

32

4

8

Each

Each

\$124.00

\$650.00

\$496.00

\$5,200.00

	DESCRIPTION	QTY.	UOM	MRC PLUMBING AND BACKFLOW, INC		
33	WATTS 774 - 6", Complete Repair.	1	Each	\$556.00	\$556.00	
34	WILKINS 350 - 4", Complete Repair.	. 8	Each	\$280.00	\$2,240.00	
35	WILKINS 350 - 6", Complete Repair.	4	Each	\$337.00	\$1,348.00	
36	WILKINS 375 - 4", Complete Repair.	3	Each	\$338.00	\$1,014.00	
37	WILKINS 375 - 6", Complete Repair.	4	Each	\$395.00	\$1,580.00	
38	WILKINS 720 - 2", Complete Repair.	7	Each	\$160.00	\$1,120.00	
39	WILKINS 950XL - 3/4", Complete Repair.	4	Each	\$96.00	\$384.00	
40	WILKINS 950XL - 4", Complete Repair.	3	Each	\$299.00	\$897.00	
41	WILKINS 975 - 6", Complete Repair.	3	Each	\$538.00	\$1,614.00	
42	WILKINS 975XL - 2", Complete Repair.	7	Each	\$197.00	\$1,379.00	
43	WILKINS 975 - 2-1/2", Complete Repair.	1	Each	\$235.00	\$235.00	
44	WILKINS 975 - 3", Complete Repair.	4	Each	\$278.00	\$1,112.00	
45	WILKINS 975 - 4", Complete Repair.	6	Each	\$389.00	\$2,334.00	
46	RAINBIRD 200 - 2", Complete Repair.	3	Each	\$160.00	\$480.00	
47	CONBRACO 40-100 - 3/4", Complete Repair.	1	Each	\$110.00	\$110:00	
48	REPLACEMENT 1/4" TEST PORT	5	Each	\$7.50	\$37.50	
49	REPLACEMENT 3/8" TEST PORT	5	Each	\$8.50	\$42.50	
50	REPLACEMENT 1/2" TEST PORT	5	Each	\$16.80	\$84.00	

BACKFLOW PREVENTER REPAIR, OVERHAUL, AND CERTIFICATION TESTING SERVICES

	DESCRIPTION	QTY.	UOM	MRC PLUMBING AN	D BACKFLOW, INC.
51	REPLACE GATE VALVE PACKING	20	Each	\$215.00	\$4,300.00
52	LABOR RATE FOR MISCELLANEOUS, NON-ROUTINE, PLUMBING REPAIR/REPLACEMENT SERVICES.	15	Hours	\$70.00	\$1,050.00
53	PERCENTAGE MARK-UP OVER THE COST FOR NEW BACKFLOW PREVENTION DEVICES, GATE VALVES OR MISCELLANEOUS REPAIR PARTS. VENDOR SHALL PROVIDE DOCUMENTATION OF COST AT THE TIME OF INVOICING.	\$20,000	% Mark-up on annual estimated parts costs	18%	\$3,600.00
	GROUP 1 TOTAL			Primary Award	\$90,669.00
	Group 2			MRC PLUMBING AN	D BACKFLOW, INC.
	Item 54 shall be awarded on a total low bid basis. Bidder <u>must bid</u> this <u>item</u> in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before offering a bid price for the group below:				
54	ANNUAL CERTIFICATION TESTING, NOT ASSOCIATED WITH PREVIOUS REPAIR WORK. All backflow preventers must be tested annually to assure that they are performing satisfactorily by a certified backflow preventer tester, pursuant to Miami-Dade County, Code of Ordinances, Chapter 32, Article VIII, (c). Most backflow preventer's certification testing will be performed by M-DCPS personnel, but this line item will accomodate those certifications perfomed by vendor(s).	5	Each	\$85.00	\$425.00
	GROUP 2 TOTAL		· · · · · ·	Tie Bid	\$425.00
	TOTAL				\$91,094.00
			Γ	MRC PLUMBING AND	BACKFLOW, INC.

PRIMARY AWARDS				
PRIMARY AWARD SUMMARY:	Low Bids			
GROUP 1 - MRC PLUMBING & BACKFLOW	\$90,669			
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250			
NOTE: Group 1 cannot certify backflows.				

ALTERNATE AWARDS				
ALTERNATE AWARD SUMMARY:	Low Bids			
GROUP 1 - A TO Z STATEWIDE PLUMBING, INC,	\$95,934.35			
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250			
NOTE: Group 1 cannot certify backflows.				

	DESCRIPTION	QTY.	UOM		ETH CONSTRUCTION ORATION
	Group 1 Items 1 through 53 shall be awarded on a total low bid basis. Bidder must bid all items in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before offering a bid price for any group below:				
1	AMES 2000B - 3/4", M2, Complete Repair.	9	Each	\$496.17	\$4,465.53
2	AMES 3000SE - 6", Complete Repair.	1	Each	\$1,745.17	\$1,745.17
3	AMES 3000SS - 4", Complete Repair.	11	Each	\$1,445.17	\$15,896.87
4	AMES 3000SS - 6", Complete Repair.	12	Each	\$1,745.17	\$20,942.04
- 5	AMES 3000SS - 8", Complete Repair.	3	Each	\$1,861.44	\$5,584.32
6	AMES 4000SS - 3", Complete Repair.	7	Each	\$1,376.96	\$9,638.72
7	AMES 4000SS - 4", Complete Repair.	22	Each	\$1,445.17	\$31,793.74
8	AMES 4000SS - 6", Complete Repair.	1	Each	\$1,745.17	\$1,745.17
9	HERSEY FDC 3/4", Complete Repair.	1	Each	\$311.09	\$311.09
10	FEBCO 765 - 2", Complete Repair.	2	Each	\$749.30	\$1,498.60
11	FEBCO 805 - 3/4", Complete Repair.	12	Each	\$369.19	\$4,430.28
12	FEBCO 805Y - 4", Complete Repair.	3	Each	\$899.17	\$2,697.51
13	FEBCO 806YD - 4", Complete Repair.	8	Each	\$899.17	\$7,193.36
14	FEBCO 806 - 6", Complete Repair.	4	Each	\$1,745.17	\$6,980.68
15	FEBCO 825 - 2", Complete Repair.	3	Each	\$749.30	\$2,247.90
16	FEBCO 825 - 3", Complete Repair.	2	Each	\$794.05	\$1,588.10

	DESCRIPTION	QTY.	UOM	NOYAR AND KENNETH CONSTRUCTION CORPORATION		
17	FEBCO 825 - 4", Complete Repair.	1	Each	\$1,445.17	\$1,445.17	
18	FEBCO 876 - 6", Complete Repair.	1	Each	\$1,745.17	\$1,745.17	
19	HERSEY FRP II 1-1/2", Complete Repair.	1	Each	\$572.30	\$572.30	
20	HERSEY FRP II 2", Complete Repair.	1	Each	\$659.54	\$659.54	
21	HERSEY DDC II 3", Complete Repair.	1	Each	\$323.20	\$323.20	
22	HERSEY 6CM - 4", Complete Repair.	1	Each	\$1,445.17	\$1,445.17	
23	WATTS 007 - 3/4", M2, Complete Repair.	23	Each	\$496.17	\$11,411.91	
24	WATTS 007 - 2", Complete Repair.	. 4	Each	\$796.27	\$3,185.08	
25	WATTS 009 - 2", Complete Repair.	14	Each	\$886.20	\$12,406.80	
26	WATTS 709 - 3/4", Bronze, Complete Repair.	2	Each	\$496.17	\$992.34	
27	WATTS 709 - 4", Complete Repair.	9	Each	\$1,445.17	\$13,006.53	
28	WATTS 709 - 6", Complete Repair.	7	Each	\$1,745.17	\$12,216.19	
29	WATTS 709 - 8", Complete Repair.	3	Each	\$1,861.44	\$5,584.32	
30	WATTS 709 - 10", Complete Repair.	2	Each	\$2,915.42	\$5,830.84	
31	WATTS 800 - 2", Complete Repair.	4	Each	\$886.20	\$3,544.80	
32	WATTS 909 - 4", Complete Repair.	8	Each	\$1,650.01	\$13,200.08	

	DESCRIPTION	QTY.	UOM	NOYAR AND KENNETH CONSTRUCTION CORPORATION		
33	WATTS 774 - 6", Complete Repair.	1	Each	\$1,745.17	\$1,745.17	
34	WILKINS 350 - 4", Complete Repair.	8	Each	\$1,445.17	\$11,561.36	
35	WILKINS 350 - 6", Complete Repair.	4	Each	\$1,857.21	\$7,428.84	
36	WILKINS 375 - 4", Complete Repair.	3	Each	\$1,445.17	\$4,335.51	
37	WILKINS 375 - 6", Complete Repair.	4	Each	\$1,857.21	\$7,428.84	
38	WILKINS 720 - 2", Complete Repair.	7	Each	\$886.20	\$6,203.40	
39	WILKINS 950XL - 3/4", Complete Repair.	4	Each	\$398.34	\$1,593.36	
40	WILKINS 950XL - 4", Complete Repair.	3	Each	\$1,445.17	\$4,335.51	
41	WILKINS 975 - 6", Complete Repair.	3	Each	\$1,745.17	\$5,235.51	
42	WILKINS 975XL - 2", Complete Repair.	7	Each	\$886.20	\$6,203.40	
43	WILKINS 975 - 2-1/2", Complete Repair.	1	Each	\$986.14	\$986.14	
44	WILKINS 975 - 3", Complete Repair.	4	Each	\$1,276.94	\$5,107.76	
45	WILKINS 975 - 4", Complete Repair.	6	Each	\$1,445.17	\$8,671.02	
46	RAINBIRD 200 - 2", Complete Repair.	3	Each	\$986.20	\$2,958.60	
47	CONBRACO 40-100 - 3/4", Complete Repair.	1	Each	\$496.17	\$496.17	
48	REPLACEMENT 1/4" TEST PORT	5	Each	\$6.75	\$33.75	
49	REPLACEMENT 3/8" TEST PORT	5	Each	\$9.75	\$48.75	
50	REPLACEMENT 1/2" TEST PORT	5	Each	\$11.75	\$58.75	

Bid No. 027-LL09 BACKFLOW PREVENTER REPAIR, OVERHAUL, AND CERTIFICATION TESTING SERVICES

	GROUP 2 TOTAL				\$291,360.36
	CROUP 2 TOTAL			Tie Bid	\$425.00
54	ANNUAL CERTIFICATION TESTING, NOT ASSOCIATED WITH PREVIOUS REPAIR WORK. All backflow preventers must be tested annually to assure that they are performing satisfactorily by a certified backflow preventer tester, pursuant to Miami-Dade County, Code of Ordinances, Chapter 32, Article VIII, (c). Most backflow preventer's certification testing will be performed by M-DCPS personnel, but this line item will accomodate those certifications perfomed by vendor(s).	5	Each	\$85.00	\$425.00
	Item 54 shall be awarded on a total low bid basis. Bidder <u>must bid</u> this <u>item</u> in order to be considered for an award. Bidder's are strongly encourage to read all Master Specifications before offering a bid				
	Group 2			NOYAR AND KENNETH CONSTRUCTION CORPORATION	
	GROUP 1 TOTAL				\$290,935.30
53	PERCENTAGE MARK-UP OVER THE COST FOR NEW BACKFLOW PREVENTION DEVICES, GATE VALVES OR MISCELLANEOUS REPAIR PARTS. VENDOR SHALL PROVIDE DOCUMENTATION OF COST AT THE TIME OF INVOICING.	\$20,000	% Mark-up on annual estimated parts costs	40%	\$8,000.00
52	LABOR RATE FOR MISCELLANEOUS, NON- ROUTINE, PLUMBING REPAIR/REPLACEMENT SERVICES.	15	Hours	\$85.00	\$1,275.00
51	REPLACE GATE VALVE PACKING	20	Each	\$45.00	\$900.00
	DESCRIPTION	QTY.	UOM	CORP	NETH CONSTRUCTION PORATION

PRIMARY AWARDS					
PRIMARY AWARD SUMMARY:	Low Bids				
GROUP 1 - MRC PLUMBING & BACKFLOW	\$90,669				
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250				
NOTE: Group 1 cannot certify backflows.					

ALTERNATE AWARDS	
ALTERNATE AWARD SUMMARY:	Low Bids
GROUP 1 - A TO Z STATEWIDE PLUMBING, INC,	\$95,934.35
GROUP 2 - BACKFLOW CERTIFICATION, INC.	\$250
NOTE: Group 1 cannot certify backflows.	

Prepared by:	O. Houser	·
Review by: M	Slocum	